Snowflake Problem




Sawple Problem

* Petermine how many wmolecules
are in the average snowflake.

* Given: It has been deterwmined
that the average snowflake
weighs 1 mg

* *HINT, careful with your units
herell




Solution

* Convert from mass to moles
* Mass=0.001 g
* Mwater = 2(0) +0=2(1.01)+ 16 = 18.02 g/mol



Solution

* Convert from mass to moles
* Mass=0.001g
* Mwater = 2(H) +0=2(1.01)+ 16 = 18.02 g/wmol

n=m/M
n=0.001/18.02

n= 0.000053 wol




Solution

* Convert from mass to moles
* Mass=0.001g
* Mwater = 2(H) +0=2(1.01)+ 16 = 18.02 g/wmol

:::"6/0“6‘1 71802 Therefore there are 0.000055
= 0.000055 mol mol in a snowflake




Solution

* Convert from wmoles to particles
* n=0.000055
* Na=6.02x 102°



Solution

* Convert from wmoles to particles
* n=0.000055
* Na=6.02x 102°

=nx Na
=0.000055x6.02x 1023




Solution

* Convert from wmoles to particles
* n=0.000055
* Na=6.02x 102°

ana
Therefore there are 2.3 x 1019




